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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 1514 3.3 0.9 4 83.7 99.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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4 |Global - Num1 or Num2 1 mark

(a@)|Local —Total 1 mark
CONDONE ‘is integer’ with the variable but nothing else

4 | Global variables can be used throughout the whole program (or project) 1 mark

(b)| Local variables can only be used in the procedure/module/function/subprogram where 1 mark

they are declared
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(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable . "‘%""4-" /V wm (]
Local variable Ta“"l B : [1]5

(b) Explain the difference between global and local variables. [2]
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Sticky Note

Full marks - Good answer to part(b) using correct terminology ‘scope’






(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable . Numl .
Local variable Te{-al

0
(1

(b) Explain the d:ffaranoe between global and Iucal

.rlobal...




Sticky Note

Full marks - Good answer to part(b) – first sentence would gain the marks buy additionalinformationconfirms understanding and does not contradict 






(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable Nlimilﬁi‘??’fﬁ}(r (]
Local variable difﬁ!ﬂ.’fi ..___ﬁ_Hme’F’d-f Lre ® [1]

(b) Explain the difference between global and local variables. [2]
Ll doal  nanadle  oveans . people. cll ococand
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Sticky Note

Part (a) has been awarded one mark but this answer has been condoned in the mark scheme and will not be awarded in the future. It is not clear that the candidate knows that Num1 is the variable when Num1 is integer has been written. 
Candidates should only write the variable name and nothing else. 




Sticky Note

Part (b) Zero marks but an interesting idea about local and global variables!






(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable H“‘“1‘5iﬁ

[
|
Local variable lwlth“m1 [1]
(b) Explain the difference between global and local variables. [2]




Sticky Note

Part (a) has been awarded one mark but this answer has been condoned in the mark scheme and will not be awarded in the future. 
This answer illustrates that the candidate is not clearly showing that Num1 is the variable. 
Candidates should only write the variable name and nothing else. 




Sticky Note

Part (b) Zero marks but another interesting idea about local and global variables.






Examiner

|
4. Below is an algorithm that uses global and local variables. o

Algorithm FindTotal

Num1 is integer {number input by user}
Numz2 is integer {number input by user}

declare subprocedure AddTwoNum {procedure to find the total of two integers}

Total is integer {used to store the answer}

start
set Total = Num1 + Num2
output “the total is”, Total
end
startmainprog

output “type in first number”
input Num1

output “type in second number”
input Num2

call AddTwoNum

endmainprog

(@) Write down an example of a global variable and a local variable from the algorithm above.

Global variable ... ... 1]
Local variable ... .. 1]
(b) Explain the difference between global and local variables. [2]
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Name and briefly describe four other facilities commonly found in a Software Development
Environment. (8]

Facility 1 ..Code_editor. —._allots... ?rubm.mnw L. q:eul ............
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Name and briefly describe four other facilities commonly foundin a Software Development
Environment.

Facility 2 ... :
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One facility of a Software Development Environment is to convert source code to machine ‘
code. |

Name and briefly describe four other facilities commonly found ina Software Development
Environmant. [8]

Facility 1 .. \58R8W POME A
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(a)

One facility of a Software Development Environment is to convert source code to machine
code,

MName and briefly describe four other facilities commonly found in a Software Development
Environment. [8]

Facility 1 12000 L i CAnes..... . RYNX L ELLO0S s
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@)

One mark for each facility named, and one mark for each description.
Facilities offered by Software Development Environments include:

Editor: this allows a programmer to enter and edit source code
Automatic formatting: Correctly indents code
Automatic colour coding: Changes key words, literals and annotation to different
colours

e Linker: this is a program which allows previously compiled code, from software
libraries, to be linked together
Loader: this is a program which loads previously compiled code into memory.
Debugger: this is a program which helps locate, identify and rectify errors in a
program
Syntax error detection: Highlighting syntax errors before code is translated
Trace: this is a facility which displays the order in which the lines of a program are
executed, and possibly the values of variables as the program is being run

e Break point: this is a facility which interrupts a program on a specific line of code,

allowing the programmer to compare the values of variables against expected values.

The program code can then usually be executed one line at a time. This is called
single-stepping

e Variable watch: this is a facility which displays the current value of any variable. The

value can be 'watched' as the program code is single-stepped to see the effects of
the code on the variable. Alternatively a variable watch may be set, which will
interrupt the program flow if the watched variable reaches a specified value

o Memory inspector: this is a facility which will display the contents of a section of
memory

o Error diagnostics: these are used when a program fails to compile or to run. Error
messages are displayed to help the programmer diagnose what has gone wrong

e Emulator: will provide and emulator to run the code/app so no physical device
required
Context sensitive menu: SDE suggests available options
Statement completion: SDE will complete a statement such as adding an ‘end if’ to
an ‘if’ statement

e GUI creation: Allows programmer to create a GUI by dragging and dropping controls

(buttons, etc...) onto a form.
e Publisher: facility to package up and deploy program as an easy to install package

marks

4+4

(b)

Marking — example could be the description or an actual example

Examples of private functions include:
standard mathematical operations such as square root or random number generator

Examples of subprograms include:
standard input / output routines such as saving data to disk

marks







Name and briefly describe four other facilities commonly found in a Software Development
Environment. (8]

Facility 1 ..Code_editor. —._allots... ?rubm.mnw L. q:eul ............
ond Nﬂb\& dmxcja Ao Yueic . code hj
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Sticky Note

Full marks - Facilities correctly named and then a brief description or example is given to gain the second mark.






Name and briefly describe four other facilities commonly foundin a Software Development
Environment.

Facility 2 ... :
\m':!.b; b llow oo vie- b chck cht  verssbh
Facility 3 . h ...... Brewh—psit— Jlow o~ £~
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Sticky Note

Full marks - Facilities correctly named and then a brief description or example is given to gain the second mark.






One facility of a Software Development Environment is to convert source code to machine ‘
code. |

Name and briefly describe four other facilities commonly found ina Software Development
Environmant. [8]

Facility 1 .. \58R8W POME A
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Sticky Note

Three good answers with explanations but candidate has not read question that asked for four facilities other than the facility to convert source code to machine code.






(a)

One facility of a Software Development Environment is to convert source code to machine
code,

MName and briefly describe four other facilities commonly found in a Software Development
Environment. [8]

Facility 1 12000 L i CAnes..... . RYNX L ELLO0S s
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Sticky Note

Two marks – candidate has a mark for debugging facilities and a mark for an example of what a debugger can do.






10

7. (a) Onefacility of a Software Development Environment is to convert source code to machine
code.

Name and briefly describe four other facilities commonly found in a Software Development
Environment. [8]

FaCT ity 1 e

(b) Give two examples of private functions or subprograms commonly stored in a programming
library. (2]
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3. A large comprehensive schocol has over 500 computers connected to their Local Area Network
{LAN) with a connection to the Internet.

(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers. [8]
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3. A large comprehensive school has over 500 computers connected to their Local Area Network
(LAN) with a connection to the Internet.

(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers. [8]

Disadvantage 1 . Tncceased cisk of hacking, i} we is hacdec
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3. A large comprehensive school has over 500 computers connected to their Local Area Network
(LAN) with a connection to the Internet.

(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers, (8]

Disadvantage 1 . ce Mekrooth  (onwpudrs AEHM
SAJLSASES o Lale. .ﬂ..CL&L'LEj ...... “Qt‘.ﬁ*...’!‘.f«.%’e‘-—.. Eﬁ..h:um.t*.h:....
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(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers. 8]
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@)

Marking — one mark for each disadvantage which needs to be clarified, perhaps
with an example, for additional mark

Disadvantages of network

A network manager may need to be employed
0 which might be expensive
Could be infected with a virus
o that could spread to all other computers
Security problems
0 receives traffic from other networks
Hackers may gain access
0 as network only as secure as weakest point of entry
0 to data and steal/destroy
The server / switch could go down (main cable break) so
o all workstations on the network are affected
Can be expensive to set up
o as Initial cost of servers, communication devices, switches, network
software etc.
Substantial Initial disruption
o drilling holes, fitting trunking, running cables between buildings etc...
Can have a slow response time
0 due to heavy network traffic
0 Sso users cannot work as effectively
Detecting network problems can be more difficult on a network
o difficult to isolate
Can be slow to login to a network
o0 As slow to download software / check password
Only limited storage space available on network
0 Have access to all hard disc drive on standalone computer
Time and effort to set up users
0 Canjust start a standalone and use computer

2 marks
(x4)







3. A large comprehensive schocol has over 500 computers connected to their Local Area Network
{LAN) with a connection to the Internet.

(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers. [8]

Disadvantage1 | _Jr ................ M\{, .......... b.aéwar’.’{ ?m:,_: (:J.Jn..w'ﬂ
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Sticky Note

Full marks – all points clarified






3. A large comprehensive school has over 500 computers connected to their Local Area Network
(LAN) with a connection to the Internet.

(a) Describe, in detail, four disadvantages for the school of having a network of computers

compared to stand alone computers. [8]
Disadvantage 1 . Tncceased cisk of hacking, i\ we is hacdec
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Sticky Note

Six marks - Three good answers with clarification but just saying that networks are slower with no justification is not a correct answer and worth any marks.






3. A large comprehensive school has over 500 computers connected to their Local Area Network
(LAN) with a connection to the Internet.

(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers, (8]

Disadvantage 1 . ce Mekrooth  (onwpudrs AEHM
SAJLSASES o Lale. .ﬂ..CL&L'LEj ...... “Qt‘.ﬁ*...’!‘.f«.%’e‘-—.. Eﬁ..h:um.t*.h:....
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Sticky Note

Three marks – First point about computers can get a virus is worth a mark but no clarification that viruses could potentially spread easier or quicker between networked computers compared to stand alone computers. 
Second point is a fairly weak answer but is worth two marks.






(a) Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers. 8]

Disadvantage 1 'cMPCkCJ{ Séﬁuﬁkg o8 b owould e
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Sticky Note

Six marks – First two points are very similar and same point on mark scheme so can’t gain marks twice but other points are clarified and worth two marks each.






3. Alarge comprehensive school has over 500 computers connected to their Local Area Network
(LAN) with a connection to the Internet.

@

Describe, in detail, four disadvantages for the school of having a network of computers
compared to stand alone computers. [8]

Disadvantage 1 ...
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(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable _ Ao I~ /V wm

R e (1]
Local variable T;ul B (1] |
(b) Explain the difference between global and local variables. [2]
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(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable ___ MNueml i1
Local variable ... lotal.. .. . (1

(b) Explain the d:ffaranoe between global and Iucal

Global . \aribles. payy e

ouithin o pctagurohereas local vannbley . caa. Yuly be..

o occessed ! uﬂwzl&m ..... Mye ________ fu.&cfﬂb they...
: G*[ohﬂ ‘tﬁl"ﬁbl&a lmw! 4. _‘i(aF( . 'M&

ﬁnhn..... nm', rlsr::uJ ...... mmﬁle; hawe. 4. scc;az Ao b







(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable Nlimilﬁi‘??’fﬁ}(r (]
Local variable difﬁ!ﬂ.’fi ..___ﬁ_Hme’F’d-f Lre [1]

(b) Explain the difference between global and local variables. [2]
Ll doal  nanadle  oveans . people. cll ococand
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(a) Write down an example of a global variable and a local variable from the algorithm above.

Global variable H“‘“1‘5iﬁ
Local variable IWNM1 [1]

(b) Explain the difference between global and local variables. [2]








